il R

L (fiﬁ&gﬁmf{ﬁatﬂq@aﬁ%fmmwwmmwé?
wr)1 _ Ctrl+Shift+S  (BL- Crl+Shift+O  (C) Ctrl+Shift+T (D)
ich key is .used to open Print Preview in LibreOffice ?
(A) Ctrl+Shift+«S ~ (B) Ctrl+Shift+O (C) Ctrl+Shift+T

Ctrl+Shift+X

(D) Ctrl+Shift+X

3" P ol et A e el R 2 2
R ®) T F A |
Qe YR D) T8 AR ‘.
Where FootNote is Located in LibreOffice Writer ? S
(A) Header of Page (B) Top of page L ¥ -

(C) Middle of Page (D) Bottom of Page

,bg?ama;maaaaaamzmaimmmwmmmm

(A) Command+P @)/ Ctrl+P
(C) Caps+P (D) IWad A Y PIS Tel
Which shortcut key is used to print the web page for Windows OS ?
{A) Command+P : (B) Citrl+P
(C) Caps+P (D) None of the above
o, siffts e A g F @ e gpofl 1 ST faba STl & o
@Yy Ctri+Y (B) Ctrl+Z (C) Ctrl+X (D) Citrl+V e
key is used for redo in LibreOffice Writer.
(A) Ctrl+Y (B) Ctrl+Z ‘ (C) Ctrl+X (D) Ctrl+V
Vﬁﬁﬁwéﬂmﬁ, ProfefEad 3 & $1F 9/ FUT e /8 ?
e ﬁmmmimwmmﬁawmmmﬂ%l
. ugwuaﬁm%é-mﬁﬁﬁawugaﬁaﬂamﬁam%a@mﬁwﬁmﬁwm
fRya &l
(A) Had | (B) @ad Il
SR skl (D) AdrISRAE
Regarding “DigiLocker”, which of the following statements is/are correct ?
I It is a digital locker system offered by the Government under Digital India
Programme.
|I. Itallows you to access your e-documents irrespective of your physical location.
(A) | only (B) Il only
(D) Neither | nor Il

(c) Bothl and Il
2 MI1-R5 /S2/ 08-22
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6 TR 3ifrs ¥ A vm s AqE g @, "'-\
(A) Fufaren ® - (C) A« D) % A
In LibreOffice Caic. a function should startwith
(A)  Alphabet B) = (C) Number (D) % R

S WREER . yeuddsaoae :

(A)  JEEHR ® Fhem (C) TS (D) FIHIT
A Web address is also called as :
(A) ULR (B) UPR (C) URI (D) URL

8. W 3ifrw wer A A9 SifGRw 5w yar w1 8 8 2
(A) Tige (B) WS
C) ¥R ) Ude IR Ay H!
Which is the type of page orientation in LibreOffice Writer ?
(A) Portrait (B) Slide
(C) Landscape (D) Both Portrait & Landscape

9, ¥ frs FERiE A FIRPTRA Brd &t € 2 1
(A) /bin (B) vtoot/ (C) /dev/ (D) /etc/ ‘
Which of the following directories contains the configuration files ?
(A) /binv (B) /root/ (C) /dev/ (D) /etc/

10. 2@ 3ifhw & wrRe ok Biifen & fo Aidse ot & g 2 !

*€ (A) F11 (B) F6 AC) F12 (D) F9

What is the shortcut key for Styles and Formatting in LibreOffice ?
(A) F11 (B) F6 (C) F12 (D) F9

11, 73 e # #e3 UIfid 333 &1 9E) AP P AR 2

~ (A wife-g= B) ufde-qR ‘
() &-T O) THE-BR ;
Which s the correct option to insert header in LibreOffice ? .
(A) Format — header (B) Edit - header
(C) View — header (D) Insert — header
Nm%mmﬂmcmcm%?

(A) (B) 4 @) 1 (D) 2
How many spreadsheets create new Calc by default ?
(A) 3 (B) 4 (C) 1 (D) 2
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tj;/q.é.tﬂ.w FHTQUETE

(A) SIYR g9 YHC O

(B) 3MYR TRics UHc Rew
JC) 3MYR gHees UHe Rien

(D) TR IS T :
AEPS stands for : 5
(A) Aadhaar Enabled Payment Source |

(B) Aadhaar Enrolled Payment System

(C) Aadhaar Enabled Payment System

(D) None of the above

J)/ ST & sregie &1 SifedH PR AT E 2
JA) 25MB (B) 25TB (C) 25GB (D) 25KB
What is the max size of attachment in Gmail ?
(A) 25MB (B) 25TB (C) 25GB (D) 25KB
Lw./ TS B T @ et wred BT AT gae & R R TaR il T T fehdT STl
8 ' -
(A) F1 B Facs (C) F3 (D) F4 S
Which function key is used to change the name of any file through the keyboard ?
(A) F1 (B) F2 (C) F3 (D) F4 S
8. R 3ifftrg & RIGRY 31 faded fPa AL H € ?
(A) BiFe B (C) A (D) @IS Tel
In which menu is the option of Thesaurus in LibreOffice ?
(A) Format (B) Tools (C) View (D) None
1Z’ 4 G TF THR HTHAd 61 6 ?
Foun) wrifefye G (B) TEMHS B
(C) wic (D) HIEHI Bd
Which one is not a type of kernel ?
(A) Monolithic kernel (B) Hybrid kernel
(C) Scott kernel (D) Micro kernel
1g. ford oifftra X A Siftiae o TR A B 2
(A) 100% @ 600% (C) 400% (D) 800%
%y maximum zoom percentage possible in LibreOffice Writer ?
(A) 100% (B) 600% (C) 400% (D) 800%
M1-R5 /S2/ 08-22

page 421




I8 R0 ol ey

20.
C

t/./

- PIET UG 1 G st 3 Rrg fovat il B,
(A) .xix B) .ixt (C) .doc (D) _-oft
—__file extension is used for template in LibreOffice Writer.

(A) xIx (B) .txt (C) .doc (D) .oft

WW#W%@W@W@W%?
(A) Ctrl + Shift + y (B) Ctrl + Shift + K
(C) Shift + | o) B e
What is the shortcut key to full screen LibreOffice ?

(A) Ctrl + Shift + J (B) Ctrl + Shift + K
(C) Shift +j (D) None

e

21mmmﬁ,éwﬁmgm$m 1 IudIT b Srar 2

(A) Ctrl+Shift+F5 (B) Ctrl+Shift+V

(& Ctrl+Shift+B (D) Ctrl+Shift+F1
In LibreOffice Writer, key is used for subscript the text.
- (A) Ctrl+Shift+F5 (B) Ctrl+Shift+V

(C) Ctrl+Shift+B (D) Ctrl+Shift+F1

22. ER HitedmR R e Rew fead g 2 -
N (A) feamy gRad ®) RrewdimeR
(C) UfH=H R (D) FEMES WFRR
Communication software and operating system are examples of :
(A) . Device drivers (B) System software
(C) Application software (D) Customized software
(23 fer3 oiftre e 3 e o fay 247 A e i & 2
(A) ®TEA (B) TuE © T (D) &
In LibreOffice Writer, the mail merge is found in which menu ?
(A) File (B) Insert (C) Tools (D) View
A e 71 & @17 i a¥q el o Aead A Iuah T8 #t o 2 2
(A) PR (B) wisH (C)firex (D) Faa
Which of the following items is not used in Local Area Networks (LANS) ?
(A) Computer (B) Modem (C) Printer (D) Cable
Page 5/21 s M1-R5 /S2/ 08-22
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725, [ oreR & 321 B 1 31 Fg1 e @ 2
A) Mmame  (B) AMaEe (o) Herame W@ T
Which size of data is called as Big Data ? '
(A) Giga byte (B) Mega byte (C) Meta byte (D) Peta byte

26. frd it sl A U wres F i fare o o3 o §d € 7

A) 4 B) 2 ) 10 (D) 6 :
What is the maximum number of views can be added to a slide in LibreOffice
Impress ?
(A) 4 B) 2 _ie) 10 (D) 6
25,.-mmmﬁmmmawm%? £
(A) $ (B8) @ &
L) = (D) IR H I BIE el .
A formula start with which symbol in LibreOffice Calc ? T
A) $ () @
C) = (D) None of the above
- Fieds &1 Iua ¥ fo fpar o @ :

28
/ (A) TTERAY ST R0l -
B WWWWWW@W%M@?WM%
férg Sud Hdl 8 : <
(©) FcrT FaR & forg SuanT faar ST ?
(D) Sl sy GAR ¥ fog IuGNT faan ST &
Broadband is used for :
(A) Wireless data transfer
(B) The actual internet connection that your modem/router uses to send and
receive data
(C) Is used for intranet communication
(D) Is used only for yoice communication

e

29, e e Ua & fore W e g
4 abc@gmail.com (B) abc@gmail-com
(C) abcgmail@com (D) 9 A IS el
Choose the correct format for Gmail-email address :
(A) abc@gmail.com (B) abc@gmail-com
(C) abcgmail@com (D) None of the above

‘ M1-R5 /S2/ 08-22
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e following is zero division error ? 5
(A)  #DIV/0! (B) #DIV/0 (C) #D/o! (D) #DI/O! "
- ‘3/“/)%3 AMPAIERA 391 o g2feres iR dres @t T o )
J&) e B) o ©) g (D) ¥
An italic and bold commands are found in menu in the LibreOffice
Writer.
(A) Format (B) View i (C) Tools (D) Insert
32. o ofifthw 3 3 e oIS 2ave 3 Widme Hot @ d 2
€ (A) Ctrl+ Shift+ Alt + V AB) Ctrl + Shift + V
(C) Ctrl+V (D) 398 Y B T8l
What is the shortcut key in LibreOffice Impress for 'Paste Unformatted Text' ?
(A) Ctrl + Shift + Alt + V (B) Ctrl + Shift + V
(C) Ctrl+V ' (D) None of these
y/ﬁﬁmﬁmwwﬁtﬁﬁamﬁésmmm%mm%?
(A) i | By TES TG
(C) WSS TRfEm ge (D) WS ¢d
Which is used to determine the timing on a slide in a presentation ?
(A) Rehearsal (B) Slide Timer
(C) Slide Timing Tool (D) Slide Tool
34, SNTEIE ? el faped g ;
¥ A FIATHIWATE 4B) T8 dEHIEE U1 49 U B el 8
(C) TP dyYl JewEe § (D) TTHHBIE T
What is blog ? Choose the correct option :
(A) Is a Web page only (B) It can be Website or Web Page
(C) Is a complete Website (D) None of the mentioned

y/ﬁémmﬁmmmﬁimmmﬁwﬁmgmn%mm
g ,

(A) Ctrl+F11 (B) Ctrl+F12 (C) Citrl+F10 (D) Ctrl+F9
Which shortcut key is used for inserting table in LibreOffice Writer ?
(A) Ctrl+F11 8y~ Ctrl+F12 (C) Ctrl+F10 (D) Ctrl+F9
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36. forsl 3ilfthe SH0 ‘3BTRS dRe & oy wifdae Hoft a1 8 2
J ~ (A) Ctrl + Shift + V (B) Ctrl + Shift + Alt + O
7’\,(9) Ctrl + Alt + Shift + V (D) P TE

What is the shprtcut key in LibreOffice Impress for '‘Unformatted Text' ?
(A) Ctrl + Shift + V (B) Ctrl + Shift + Alt+ O

(C) Ctrl + Alt + Shift + V (D) None

; Wﬂmﬂsaﬁaéﬂlm%m_wwmmmm%l
(A) Ctri+F7 (B) Shift+F2 Sy F7 (D) F2
function key is used for spell check in LibreOffice Writer.

(A) Ctrl+F7 (B) - Shift+F2 (C) F7 (D) F2

T ey iR Rew &1 faviwar
(A) U8 Us §g-IuaNTehal TR Ren 8
(B) U UP 3afiiep i aiforfen Rew g
(C) U HeeleRpT SHTRfET R 8
IWRIad gt

Lhnd asien  casiet delndibe o | | Sl

: i)
’ Features of the Linux operating system :
(A) It is a multi-user operating system
' (B) Itis a highly secure operating system '
(C) Itis multitasking operating system &
(D) All of the above \"f’
(39 feraa sfofe fRew &1 781 | =
LBy Fad By <fifa (C) Ta (D) HHS
The core of linux operating system is :
(A) Kernel (B) Terminal (C) Shell (D) Command
” fag SR Rred @ Bigdl & 8o & T e SHTs &1 Iuae fbar ST § 2
(A) delete uBy rm (C) dm (D) erase
Which command is used for removing files in the Linux operating system ?
(A) delete (B) rm (C) dm (D) erase
y/%ﬁaﬁﬁmﬁmm%mm’fmﬁw% ?
(A) Ctrl+C By Ctrl+ X (C) Ctrl+K (D) Shift + X
What is the shortcut key to cut in LibreOffice ?
(A) Ctrl + C (B) Citrl + X . (C) Ctrl+K (D) Shift + X
42. for 3iifth T3ex # TR 3w fore A A fAaar g 2
’? ) & m.(B) o (C)  ®Id (D) 3¢
In LibreOffice Writer, Ruler option is found in which menu ?
(A) Tools (B) View (C) File ®) . 1Hisen

___
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43, PR 3 & w1 R oo wrge & Rew SR A Ao T 3 2

<

LAY U H AW (B) U8 HBm
(C) arf (D) IR H A PIS el
Which of the following is not present in the status bar of LibreOffice Writer ?
(A) Name of Computer (B) Page Number
(C) - Character (D) None of the above
44, TS SfiThE S 1 Bhfen U 8 w3 w1 firg R 2ar 2 2
A) @ By # € $ (D) &
Which sign is visible when there is a Formula Error in LibreOffice Calc ?
(A) @ (B) # C) §$ (D) &

35, TR IIRATE a—aane 2

A fedasT B dmeEma () s (D) 3R A1
What is the line given above a text ?

(A) Below line (B) Over line (C) Upline (D) Upper line

46. Alt+Page Down RITSS Sl A Fiafiife & & R wra 3 Ry vov Rear o & 2
U Fasha dlgaR s i (B) o sthae Tomg anTel wies R I

(C) fued wrs fdErm (D) WSS N A Ugel WeS W AT
Alt+Page Down key is used for which of the following effect in Slide Show ?
(A) Play next effect (B) Go to next slide without playing effects
(C) Show previous slide ~ (D) Jump to first slide in slide show \
“\
L AR W $A F gieR e WA R RREE 3§ 2 N
&) dH (B) SR H
() dad (D) JWIFd T A PIS 8!
Usually signature appears at which place in email ?
(A) Atthe end (B) In beginning
(C) In middle (D) None of the above.
a8, fora 3ifftpg 379 @ fbg Wi W B PR THl ¢ ? ‘
0wy fEEe (B) feraw (C) AP (D) IrEa o
Which of these platforms can LibreOffice work on ?
(A) Windows (B) Linux (C) Mac (D) All of the above
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49. TS UPR ST AR IIAaR0 R} el &) areafae ufkaw A efdmd &0 8 U fomgy

f Smrgl
(A) FARia (B) oref-gARia
AC) R-gRia (D) Wafifd
A type of VR environment in which subjects are visually isolated from the reg
environment.
(A) Immersive (B) Semiimmersive
(C) Non immersive (D) Augmented

50, PN W T R¥Rrea e sfcwor i fafdy 7 8 2

(S
(A) UPI _B) NFET (C) RTGS (D) IMPS
Which one is not the method of Digital Payment Transfer?
(A) UPI (B) NFET () RTGS (D) IMPS

51, 39 FOWR S ¥l TH T - £oa
A T (B) g © (P) MR-
Choose the correct name of Web browser : e
(A) Google (B) Yahoo (C) Gmail (D) Obéré

7 %@eﬁﬁmﬁ@-aﬁuﬁﬂhaﬁmﬁ%mmmﬁa%qaﬁgﬂaﬁm

J Tt @ & R far idee Goft o1 IUAnT a1 ST € 2

g ShifteCeR  (B) ShifteCirlsX  (C) ShifteCirksS
Which shortcut key is used for restoring or refreshing the view of the current

document after changing the anti-aliasing settings in LibreOffice ?
(A) Shift+Ctrl+R  (B) Shift+Ctrl+X  (C) Shift+Ctrl+S (D) Shift+R

(D) Shift+R

_/53. frg 3iftpg Fod § AT FH A ?

(A) 5% By 20% (C) 15% (D) 25%
What is the minimum zoom in LibreOffice Calc ?
(A) 5% (B) 20% (C) 15% (D) 25%
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54. fora b Wger A qote fore e & forg g & @ faper ot a1 g e oirell 81

£ (A) Ctris+F12 BT  Ctrl+Shifts F12
(C) F12 (D) Shift+F12
Which of the following key is used to add bullet list in LibreOffice writer.
(A) Ctrl+ F12 (B) Ctrl+Shift+ F12
(C) F12 (D) Shift+F12

55. Calc Wexfic & g &1 & 1Y B13d Ty #1 8 2

» JAr .ods (B) .odl (C) .xIx (D) .odc
What is the file extension to save Calc spreadsheet ?
(A) .ods (B) .odl ) - XX (D) .odc

<+ 55 3 oifftrw & A1 31 U3 1 & forg 319 91 Aoy Iua= & 2
C7 A 39 iR 3R Bis (B) URTRE PIS

c) e e P 4B) FTHIBIE Tl
Which option is available for editing the macros in LibreOffice ?
(A) Save original Basic code (B) Executable code
(C) Load Basic code (D) None of this
57. 2fE1 &1 ITURT HA & foQ WicwHe Hoit 1 8Ift 2
= (A) Ctrl+4 (B) Ctrl+2 (C) Ctrl+3 By Ctrl + 1
What will be the shortcut key to use Heading-1 ?
(A) Ctrl +4 (B) Ctrl+2 (C) Ctrl+3 (D) Ctrl +1
587 o aifftra & <gram SR e REwlee i SR 12 2 y/zﬁﬂ&"%
A 9,96 (B) 6,69 (C) 7,72 (D) 11,96
What is the minimum and maximum default font size in the LibreOffice ?
(A) 9,96 (B) 6,69 (C) 7,72 (D) 11,96
88, o ff , P 7. Rk e st 0 2 v o e 2
(A) AY (B}~ Calc
(C) g / (D) PEMES HHeaR
In LibreOffice, Which of the following is used as Spreadsheet Software ?
(A) Math (B) Calc
(C) Writer (D) Customized software

R M1-R5 /S2/ 08-22
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60. fors aiffthe e A e GG IR B

P A TR S B) P 3 1 ¢T
(C) TRATAGIHRUT BT HH! (D) wial # affoed
s the most common limitation in LibreOffice Calc.
(A). Error-checking (B) The trap of fixed values

(C) Lack of documentation (D) Operators in formulas

61./,,ﬁ=zﬁﬁaﬁ=rws=lg'c'%aswﬁ%?
v (A) TEls (B) WISY (G) AT @ ¥R

Which of the following is not an input device ?
(D) Scanner

(A) Touch Pad (B) Mouse (C) Monitor
y/ﬁé&ﬁqwﬁhﬂfaﬁﬁﬁamﬁsmmﬁmmmsﬁ%?
(A) Ctrl+N By Ctrl+Shift+N  (C) Shift+O (D) Ctrl+Shift+O
Which key is used to manage the template in LibreOffice Writer 7
(A) Ctri+N (B) Ctrl+Shift+N  (C) Shift+O (D) Ctrl+Shift+O
/ sieaT |18 ?
A TP UPR D1 febpr<dt
(B) R g TR Aeadh W U@ fadRkd Aok
(C) TS Heipd AR
(D) TH Tal

What is Blockchain ?

(A) A type of cryptocurrency
(B) A distributed ledger on a peer to peer network

(C) A centralized ledger
(D) A Currency

‘/64. HRUTH HTYU FY T ?

(A s v A B {SH oy AER

(C) s uamy Aardt (D) IRad H A BIS Tal
What is the full form of RAM ?

(A) Read Access Memory (B) Random Access Memory
(C) Red Access Memory (D) None of the above

Jape 12/21
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\‘65. a“l\’fﬂ?&ﬂgﬁa{ﬁ%

A .

Ec; :;ﬁmm ”.“a;i ®) o
QR code means - (D) T & P el
AT Qui

(C) 1ok Response Code (B) Quick Rolling Code

Quite Response Code (D) None of the above

e m&mmmwmﬂ' 2

A) . :
§N:1 t o _ (B) .odt (C) .ods By .odp
S atls the file extension of LibreOffice Impress ?
(A) ot (B) odt (C) .ods (D) .odp
67. ﬁqmwmﬁﬂﬁmwﬁaaﬁéﬁam%?
L) 511 (B) 508 (C) 510 (D) 509
Which error code indicates the missing equals sign from the formula?
(A) 511 (B) 508 (C) 510 (D) 509
6%6 e fordht e # 7ol € dl 98 ‘g e X G \
(A) PPN _B) e
(C) TR (D) 3RfET Rew
If a computer does not have the , it cannot "boot."
(A) Compiler ‘ (B) Loader
(C) Assembler (D) Operating system

69, AR Qi EUR:
() Rive fa cffademia By ud i g Mt
() Rivd Ad g diddla (D) IWad ¥ A P e
SMTP stands for :
(A) Simple Mail Terminal Protocol (B) Simple Mail Transfer Protocol
(C) Simple Mail Transport Protocol (D) None of the above

70 w@eRe WM
() e @) figss? €] el () smm
Choose the correct Instant Messaging app :

(A) Twitter (B) LinkedIn (C) Telegram (O) ifBlagran
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71. T 3fifthy vz A Ry A @ o 91 f¥viee pie ser & 2

£ YA 8 ) 10 (C) 14 (D) 12

Which of the following default font size in LibreOffice Writer ?
(A) 8 (B) 10 C) 14 (D) 12

g 72 THUT P EUANEIGER

_ (A) AR 3ifet Aead (B) Aeriferes gfkar Feafd
(©) #3 R AeTd (D) AeaiRre ufar Aead
MAN known as : -
(A) Metropolitan All Network (B) Metropolitan Area Networking
(C) Metro Area Network JP Metropolitan Area Network

73. FugeR S Ay PAEfifdd geal AT gl ¢ -

\/w S0 gfe 3R TUA.G, (B) SifoRf Ren iR YRS
(©) A9 3R g7 A (D) &S few iR Tl g1sd
The CPU of a computer is made up of the following components :
(A) Control Unit and ALU (B) Operating System and Application

(C) ROM and Main Memory (D) Hard Disk and Floppy Drive _..g!
e

4. T3 3ifftrs e A fwTee wea AW gl

(A) M B By 3T 1
(C) G BEd (D) TR T I s el

is the default file name in LibreOffice Writer.

(A) Odt file (B) Untitled 1
(C) New file (D) None of the above .

75. /asPw #1 UEeh TS &1 3 f5E A F S 8 2
- A) FHEES (B) gHIWRES (O WS WS (D) @R
By what name do you know the first slide in the presentation ?
(A) Home Slide  (B) Main Slide (C) Title Slide (D) None

76 PAEEd AT R ? | :
(A) HEHIEGE fd (B) IR e fafddifsar (D) T
Which one is not the search engine ?

(A) Microsoft Bing (B) Yahoo (C) Wikipedia (D) Google
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ot Mﬁm.@q Py

V_ ”4‘
gl iy ot o ®) $eve MaEst e
IP ad?ress stands for : (D) FTH A HIE 3¢}
I::I‘:net Protocol address (B) Internet Provider address
Net Protocol address (D) None of the mentioned
\?9‘ - IR §2|&1H%32ﬂﬁ;;
L’g WQE&HSW%?QW% (B) g 1= e} fbar o wpa
ST HIT 3T D 3 i
OTP is safe because : Dl FAg I o
(é) It is different for every access (B) It cannot be shared
(C) ltis easy to generate (D) None of the above
klvsfﬁmﬁwmm‘wmmwm%?
(A; gtrll+§2ift+A (B) Ctrl+Shift+X
AL trl+Shift+Vv (D) Citrl+V
What is the shortcut key for Paste Special dialog in LibreOffice ?
(A) Ctrl+Shift+A (B) Ctrl+Shift+X
(C) Citrl+Shift+V (D) Ctrl+V &

80 3R WMl 71X $AT Ao A F e S A T R R AR RAIR S s AT A aw
¥ weient? w@ RAew
JAr TR H (B) Wedd (C) (WA (D) THABE &
If send email is not in sender sent-box nor in the inbox of receiver then where it will
be ? Choose the correct option

(A) In Draft (B) In Sent-box
(C) In Outbox (D) None of the above

81. ferd 3ifftha & Wit el & Sraal &I Wia- & g fw Foft &1 Iudin frar s & 2

‘T- A Ctrlsl (B) Ctrl+Shift+1  (C) Crl+t (D) Ctrl+1
Which key is used to open the Format Cells dialog in LibreOffice ?
(A) Ctrl+L (B) Ctrl+Shift+1  (C) Ctrl+t (D) Ctrl+1

_Bs. ford st # fife ST @ie @1 Acdhe poft @ g 2
" (A) Ctr+G (B) Ctrl+A _JderCrlsP (D) Ctrl+D

What is the shortcut key to Open the Print dialog in LibreOffice ?
(A) Ctrl+G (B) Ctrl+A (C) Citrl+P (D) Ctrl+D

. 22
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B3, 9 g s A S ot v o e & 7
(A) 3 LBy 2 (C) 5 (D) 10
What is the maximum number of views you can add to a slide ?
(A) 3 (B) 2 (C) 5 (D) 10
8 Tl ®:
(A eie ufdy iageR (B) T ufdy AfSaY
fg,): gexAe O UIaEs (D) FeTAc O afsae o
Isa. )

(B) Internet Service Predictor

(A) Internet Service Provider
(D) Internet Source Predictor

(C) Internet Source Provider

g5, g A PN U@ Fead el e 8 ?
< (A sg A ®) a1 Sttt
_(oy Ut g dRf St (D) R et
Which of the following is not a Network Topology ?
(A) Bus Topology (B) Ring Topology
(C) PC to PC Topology (D) Star Topology

N
: ﬁaﬁﬁﬂﬁﬁﬁ-mﬂmqﬁﬁwm%ﬁ? : o

'?( (A) Ui FgS (B) WEae a@es  (O) FEfE T3S (D)/sﬁaamﬁ —_—
he cloud deployment models ¢

Which of the following is/are t
Hybrid Cloud (D) All of the above

(A) PublicCloud (B) Private Cloud (C)
wmm%@mmﬁmmq&aﬁ%w%%

>¥f: for o T €1 ;
(A) Shift+Enter (B) Citrl+L ey Ctrl+Enter (D) Citrl+O
key is used for Line Break in LibreOffice Writer without paragraph
change.
(A) Shift+Enter  (B) Ctrl+L (C) Ctrl+Enter (D) Ctrl+O .
gg. forgl fiftpd ywidga_ TTE
v (A) 8 (B) 12 Je) 14 (D) 10
total charts are in LibreOffice Calc.
(A) 8 (B) 12 (C) 14 (D) 10
. 89. A 3% &3 ¥ forg Fafif@d & I ¥ haRr Ffl BT T fbar o § 2
(A) F1 (B) F3 Joy"TF (D) F8
Which of the following functions key is used to perform a spelling check ?
(A) F1 (B) F3 (C) F7 (D) F8
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790, Y i wree .
5 TR H e A 8y 3 »

T MR TR B
big: 1any menus are found in LibreOffice Writer ?
B) 13 (C) 8 Wt

® mr' T STHE AT i o e 35 2 g e g o g
) SIRENTTE By qeflang © TR () sy

In Online Internet Banking, which payment method is used to immediately transfer

the money?

(A) RTGS (B) UPI (C) NEFT (D) IMPS
92 ﬁm@aﬁammmmmamw%?
S ll) oot (B) .ods (C) .odp BT

Which of the following extensions is not related to the LibreOffice ?

(A) .odt (B) .ods (C) .odp (D) .rif
_98. PYXR T & el UHR B 907 I

(A) TA.QEA. (B) Qn.qmm

(C) S=g.uuH. DY~ ST

Select the correct type of Computer Network :

(A) LAN (B) MAN

(C) WAN (D) All the mentioned = e
_94. TIRTE B Y0 ETB : -

(A) I 31T TR B) qﬁmmjﬁ?

(C) FFwiH R ctder (D) TR RErd

URL Stands for : .

(A) Uniform Roll Locator By Uniform Resource Locator

(C) Uniform Resource Location (D) Uniform Resource Loader

. —round(175,.2)F1dY____ B2
L AT 200 (B) 100 (C) 0 (D) T8 A B T&F
is the value of =round (175,-2) ?
(A) 200 (B) 100 € o (D) None of this

6. forg aiffte # &1 fAfdp &3 & o b1 Q) et &1 Suam o wmar & -
i (A) RGB, CMYL MGB, CMYK (C) RGB, RMYK (D) 3TN J B 7g)
Which two options in LibreOffice are used to specify color ?
(A) RGB,CMYL (B) RGB,CMYK (C) RGB, RMYK (D) None of this

—————————— S
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g R oiftew b AT A g A wtwe gt 27

(A) Ctrl +C (B) Ctrl + + (C) Delete LBy Ctrl + -
shortcut key of deleting of the cell in LibreOffice Calc ?
(A) Ctl +C (B) Ctrl++ (C) Delete (D) Ctrl +-

98 i aiifthy Tger A et PR & U R &7 797 BX ?

(A) Tce (B) WS
() @by (D) 3R Fswpy gl

Select the correct type of page orientation in LibreOffice Writer ?

(A) Portrait (B) Slide

(C) Landscape (D) Both Portrait and Landscape

997 FoffEd ¥ & o1 o oty s &1 TP e el & 2
(A) s§ (B) ER C) T (DY TRIEIRR

Which of the following is not a component of the LibreOffice suite ?
(A) Base (B) Writer (C) Impress (D) Explorer

 100. Prfifa & & 3 R 3er el 7 8 2

(A) Apache Hadoop B~ Apache Spark

(C) Apache Kafka (D) Apache Pytorch

Which of the following is not Big Data Technologies ?

(A) Apache Hadoop (B) Apache Spark

(C) Apache Kafka (D) Apache Pytorch
-00o0-
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M1R5,S-2 16 B 34 B 52 A 70 C 88 D
Answer 17 C 35 B 53 B 71 D 89 C
18 B 36 C 54 D 72 D 90 A
L8 19 D 37 C 55 A 73 A 91 D
2 D 20 A 38 D 56 D 74 B 92 D
> 8 21 C 39 A 57 D 75 C 93 D
+ oA 22 B 40 B 58 A 76 C 94 B
> 23 C 41 B 59 B 77 A 95 A
6 8 24 C 42 B 60 B 78 A 96 B
7p 25 D 43 A 61 C 79 C 97 D
8D 26 D a4 B 62 B 80 A 98 D
oD 27 C 45 B 63 B 81 D 99 D
104 28 B 46 B 64 B 82 C 100 D
11D 29 A 47 A 65 A 83 C
12 ¢ 30 A 48 D 66 D 84 A
13 ¢ 31 A 49 A 67 D 85 C
14 A 32 A 50 B 68 D 86 D
1> 8 33 A 51 D 69 B 87 A
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